Express each of the following as a simpler trigonometric function.
(@) sin(x-x) ®) cos(Z-x) () tan(2r-x)
(d) cos(m+x) (e) sin(2rx-x) (1] cot(%—x)

&) fin (=) = pimx
b) ao(_ll'-x) = A

pA
C). tau(br—m) = taf-4 = /M(—’L)) _ AWy
(2 con X
A) Cfé[‘ﬂ‘-#x) = — X
) sa(or _x) = sim () = = anx

) ot (I"‘)= wE-Y) _ At
- /m(_?.r_x) w x

2 For any angle 6, cos(r - 8) is equal to:
A | =cos@ B cosé C sinf D =sin@

C@(Tr-—g): —-CF.)G

3 Indicate whether each statement is correct or incorrect.

(a) cos(%—ﬂ)m:oso (b) cos(2r-B)=cos@ (c) sin(r+6) =sinh (d) sin(2xr-6)=-sinf
morrect correct LA COrect correct
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4 If sinx =0.2, write the value of:

@ sin(r-x) () sin@r-x) (¢) sin(=x) (d) cos(g-x) @ sin(r+x) () cosecx

%) pim fr—2) = s x = 0.2

b) M(ZTI"—%) = m(—x’) = - Wt = = 02
D pin (1) = — snz = — 0.2
A) caa(ll:,x) = mx = 0.2
2
() ec X = | — l =1 _ &
e 1L
A X 0.2 5
6 If cosx = ¢, express the following in terms of ¢:
(@) secx (b) cos(=x) (€) cos(m-x) (d) cos(2m-x) (e) sec(=x) ( cos(m+x)
d/ ALL AL = | = a
o X &
L) (2 (—'l) = a=C
c) cm[Tr_x) = —wmx =—-C

‘VC@(Q.T-DL\ == Cm[-xx = 0y X%

6) /3(;(,(—’1): ’ _—,_l_.::

Q) c@(rntz.\ = —mr= —C
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7 Write the exact value of:

(@ sin% (b) cosz—”- (© wn3X  (d) cosx

(@) sec2ZX  ( ot (g) cosecX  (h) sin-23£

) /2 ) (5 5

) m(51r> (5 Newr = - |
c@[bﬂ‘/g —\(3/2_ 2

) () ------ 2 .z

o) (7))
) otbk)- () . Bk (5 g JosecEe =

o (5T%) Vs A
) m(3)- ¢

9 Write the exact value of:

(@ Si“%)'r' (b) lan%& (c) cosccll6” (d) tan%’i
(e) cotzf 0 C°5'1—16£ (9) SiﬂST” (h) cosccé_.;—r-
[ __g/
& \ = - .L + _5_‘?) = _/M [‘bn—é) - 2 — \/’5—
} /z)v»\@ ﬂ‘/z.) ’ ) M($ - [5“—/5) P
) comec [l = S I
/ (5> () () 7
) tugr. A7) _ % 1 oot )Jt%-’f ]
v w(my) A ‘o



12 If @is an angle in the 2nd quadrant, state whether the following are positive or negative:

(@ cos(r-6) (b) tan(r+ 6) () sin(f-e) m
g
(d) sin(2n-0) (e) cos(m+6) 0 tm(%-g) W
e o [T-8)>0

'7) m T clmdl\mf
) o) I quaer o hubred) < aler) 2

C)m{m:_e):cwe €0
2
¢ dn (21-8) = (B = - <O

o o (T+8) = —wB » O @ C”ffo
/'
fan [T - M(T/l_e)zﬂ#o <O .

6 =
ﬁ) (‘Z) ceo (- 8) '/Me‘\/w

14 Using a diagram, find equivalent expressions for:

@) cos(ézlu) ) um(éi’l-x) (© sin éj”--x)
) (élr kol = —ane
2.

b) m(@_x) =+M(T+ezr 7)<t
Z M(T/Z,”X\ ' (d L _ CO'taAkX.
o (W/L’ >ﬁ— e

] -, y &
°)/M$W—l :Mw+m—kz—/«>w/l‘i—’¢)—— o
7 ] Z
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13 Solve, for0<x<2nr:

(a) sinx=-§ (b) tanx=-1 () cosx=-1
(e) secx=—a/-3 () sinx=cosx
7 Anx = —13 mowa e x= 4T
2
}) o = — | MQAMA af. x= 3T
4 4
C) L = "') 20 K=
= e
”V otam x = 3 = ‘”""—(—i/)—‘)={ “
) [
v x=Ty or x =TT/
) men=— 2 = L o . =
CcA 2
3T eor =0T
X =< ”
O MM'L:’ D % = "'M'X_ = '
X = Tr/4 of X = 511/4
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13 Solve, for0<x < 2nm:

(g) sinx=0 (h) 2cosx+1=0

(i) 2sinx =43 ()] sinx +v3cosx=0 (k) cosecx=secx
9) =0 M2AMA =T

b Lwr+] =0 & )

o = ZTF/\S or  x= 4’%

i) ) mar =3 sne =

i
= 2
%o x=L o0 T
= — > o
a) X = a=> ML = \/——
A 3 w Y YA
J4=> by = —V3 = = =
'/2. "‘/z
2 3
ﬁ | | o AN = X
— % a=D — =
) (el A = L e
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